. VCE & PDF https://www.pass4itsure.com/1z0-1042-20.html
g 2024 Latest passditsure 120-1042-20 PDF and VCE dumps Download

PassditSure.com

170-1042-209%A8

Oracle Cloud Platform Application Integration 2020 Specialist

Pass Oracle 1Z0-1042-20 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https:/lwww.pass4itsure.com/1z0-1042-20.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase
Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

170-1042-20 VCE Dumps | 120-1042-20 Practice Test | 120-1042-20 Exam Questions 1/3


https://www.pass4itsure.com/1z0-1042-20.html
https://www.pass4itsure.com/1z0-1042-20.html
https://www.pass4itsure.com/1z0-1042-20.html

VCE & PDF https://www.pass4itsure.com/1z0-1042-20.html
a 2024 Latest passditsure 120-1042-20 PDF and VCE dumps Download
== / PassditSure.com

QUESTION 1

You have been tasked with provisioning a Managed File Transfer (MFT) Cloud Service on Oracle Cloud
Infrastructure (OCI).

Which of provisioning requirement is NOT valid?

A. You are required to obtain an authentication token for an Object Storage bucket within an accessible OCI
compartment.

B. You can use any Oracle Database instance running in either OCI or OCI Classic.
C. You must create a Virtual Cloud Network in OCI with at least two subnets.
D. Provisioning MFT requires creating a SOA Cloud Service instance in OCI choosing "MFT Cluster" as a service type.

Correct Answer: C

QUESTION 2

What two tasks can a user with the Application Developer role perform?
A. Subscribe to a Plan.

B. Deploy to a Gateway.

C. Create an API.

D. Create an Application.

Correct Answer: CD

https://docs.oracle.com/cd/A58617_01/server.804/a58241/ch2.htm

QUESTION 3

Which three are ways enterprise applications can interact with Oracle Internet of Things (IoT) Cloud Service?
A. send commands/messages

B. insert/update/delete data

C. subscribe to data

D. query data

E. subscribe to commands/messages

Correct Answer: ABD
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QUESTION 4

What policy is required to be in an API if that APl is to be used under a Plan?
A. Application Rate Limiting

B. Basic Auth

C. Key Validation

D. Interface Filtering

Correct Answer: C

QUESTION 5

Which two statements are true about rules in a decision table?

A. Every rule consists of one or more input entries and a corresponding output entry.
B. A decision table can contain only one rule.

C. Rules are expressed as columns within a decision table.

D. When the input data matches the input entries of a rule, the result of the decision table contains the output entry of
the rule.

Correct Answer: BD
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